{ B

FOURTH SE!

» NN D Q
AT T1ON OF SP |
VISC
IUSE OMR FOR OBJEC
Duration: 1:30 hrs.
It ~
Time: 15 mins. A\ &
YR 1. — = = o~ . o117 EX .
U hoose the correct answer from !7;,1“ jrl,iif,rl,‘,,_”_“ .
1 1,2-dichloroethane in 1*C NMR will b
D. triple
d. quintel
2 [he "L,V‘Irlii“'f"rlrl‘('_z'.f\e]'l[!?'fc]llb“\d.l\“'1‘“ not show peak in DEP
y
4~
b. C2
A
d.C4

Which one

correct for the following mol cule regarding, it

OH

14

\ Al
\ OH
HO

1 1 1 JO
s ity Y & \
1 | \O LG
[1-] @« { | b
| 11N )|
1 L NNiqu ] b uitabl

H
|
1

"‘.\'\"Wvﬁ. _1_.‘_; \' 7




10.

If a molecule (C.HyN,) shows molecular ion peak in EI-MS m/z = 80, a distinct peak at
2250 cm! in IR and a singlet (6 = 2.8 ppm, 2H) in TH-NMR, and DBE = 4, the correct
formula will be

a. CiHsN2 b. C3HaN3

C. C5Hf,N d. C..]’[.;Nz

Which ionization technique in mass spectrometry involves bombarding the sample
molecules with a high-energy laser to produce ions?

a. Electron Impact (El) ionization b. Chemical lonization (CI)
Matrix-Assisted Laser Atmospheric Pressure Chemical
Desorption/lonization (MALDI) " lonization (APCI)

In mass spectrometry, what does the term (m/z) represent?
a. The mass of the ion b. The charge of the ion
¢. The ratio of mass to charge foranion  d. The size of the ion

Which of the following is a TRUE statement
Stability or life time of molecular ion b. Mass spectrometry does not give any

a. of aromatic compound is greater than information about the composition of
hydrocarbons the molecule

g FAB technique is a hard ionization d. MALDI is generally done for low and

" technique volatile molecular weight compounds

The molecular ion peak of the following compound will be found at

HaCO COCH,4
H,3CO
a. m/z =181 b. m/z =180
c. m/z=179 d. m/z=182
MALDI is a
a. Soft ionization technique b. Hard ionization technique
¢. Notan ionization technique d. All of the above
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[ Descrigtive]

Time : 1 hr. 15 mins. : Marks : 25

2.

b.

[ Answer question no.1 & any two (2) from the rest]

Write the structure of 4-chloroacetophenone and mention how 3+2=5

many signals will be obtained in the DEPT-90&DEPT-135
spectra of the molecule.

Explain the isotopic effect in mass spectrum taking the example
of ethane (C:Heg) molecule.

Depict the probable *C NMR (both proton-coupled & proton- 4+6=10
decoupled) spectra of ethyl acetate with explanation.

How many peaks the following molecule will show in proton-
decoupled *C NMR spectrum? Depict the probable DEPT-45,
DEPT-90, and DEPT-135 spectra of the following compound.

Draw the proton-decoupled “C-NMR spectra of the following
compound :

CHE:CH:CI [Given: 'c.iy = 180 Hz, 2fcry = 40 Hz; 8 (50 MHz,

4+3+3
=10

CDCl, ppm): 90, 50].

If the 'Jc.1 = 160 Hz, how many signals will be there in the
INEPT 80 & INEPT 120 spectra of the following molecule?

O

A~

3 USTM/COE/R-01




ympound ¢

0SSible mass spectrum.

hod of 1onization 1IN mass ~:q.nj_:{c[isim,1n'ﬁb1ii_i\'/;(5 eSscr

M+H]* peak in CI-MS not molecular ion pes

OV T bable [ lon pattern of i'ilht;\fi'r:iﬁk’p)f i 'n_’:{'/,
) ndsand w the possible mass spectrum.
( 14
s TOF an 343+4
Vfum.‘- :.

chemal different secti o ;
al robable fragm ntation pattern of the following
. - 8 o

mpound. Draw the ‘yn::,!;wnlw!i,"mnl,l.*‘»:;-‘:1rr‘,:(nfi‘is':\1«||'rs‘n)z;in'\d[;»d,t\:":;(i-{n}:‘xi_i};‘

USTM/COE/R-01




